Lead Iodide Lab

Prelab

1) What is stoichiometry?

2) What is a precipitate?

3) What always happens in a double replacement reaction?

4) Potassium reacts with iodine to produce potassium iodide.  If you begin with .25 moles of potassium and .15 moles of iodine, which element is the limiting reactant?

Procedure

1) Measure out 3.0 ml. of  lead II nitrate solution and place it in your 50 ml. beaker.  Measure out 5.0 ml. of potassium iodide solution and combine it with the lead II nitrate solution in your beaker.  Record the color of each original solution and the product.

2) Mass a piece of filter paper to the nearest .01 gram.  Write your initials on the filter paper.  Fold the paper into quarters and place it in your funnel.  Place the funnel in a clay triangle on a ring stand.  Position your 100 ml. beaker under the funnel.

3) Carefully pour the contents of your 50 ml. beaker into the filter paper.  Rinse the beaker with a wash bottle of water to get all  the precipitate out.  Pour the rinsings through the filter paper.

4) After all the liquid pours through the filter paper, place the filter paper in the oven.  Let the filter paper dry in the oven for 24 hours, then mass it to the nearest .01 gram.

Data Table
Mass of Filter Paper-

Mass of Filter Paper and Precipitate-

Mass of Precipitate-

Conclusions
1) Determine the moles of lead II nitrate and potassium iodide used in this experiment.

2) Determine the moles of lead II iodide produced.

3) Write a balanced equation for the reaction that occurred in this lab.

4) Use stoichiometry to determine the limiting reactant of the reaction you performed. Calculate the amount of product that could theoretically be produced.

5) Determine the percentage yield of the lead II iodide.

Questions
1) 2.27 g. of iron III chloride reacts with potassium iodide and 2.85 g. of potassium chloride is actually produced.  What is the percentage yield of the reaction?

2) .95 g. of lithium reacts with 1.67 g. of chromium II chlorate to produce what mass of lithium chlorate?

